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The Role of Zeros in a Quadratic Equation

Relations in the following form are quadratic, Provided that a # 0. This
form is known as the factored form of a quadratic

y=a(x-s)(x-t)

In this format;
s and t represent the zeros of the parabola
x and y represent a known point on the parabola
the a is the numerical value associated with the equation,
and needs to be found.

® If a> 0, the parabola opens up and has a minimum
e If'a <0, the parabola opens down and has a maximum
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If the two zeros (s and t) are not equal to
each other, than the relation has two
distinct places where it crosses the x
axis. If's and t are equal to each other,
the relation has one zero at that point so
thatx =s=t

If the zeros of a quadratic relation are s
and t, then the x-coordinate of the vertex
iss+t
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Two Zeros

One Zero
x=s=t
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When the zeros of a quadratic relation are known, the value of a
can be determined if some other point (x1 , y1) on the graph is
known. Substitute the coordinates of the point in the factored
form, giving

y1 = a(xs -s)(xq - t)

Then solve for a.

Do examples 1, 2, and 3 from the textbook.




